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Nu mupuyovTomouoeTe TG whyefpikis TupusTdoels;
i) 5x'-20 i) 3x'y' 27

i) (0 -3) -9 iv) 2a’p’ —16.

Nu mupuyovTomouoeTe TG whyefpikis TupusTtdoels;
i) 2x'y—6xyo+8xy’ i) 3x'-x‘y+6x-2y

iil) 25x% —20xy +4y° iv) 16x* —v"

Mo rapoyovionotieete 11 ahyefipicés mupucthass

) xvx —2x—5x +10 ii) o +2ap+p-1
i) x -y —2x+1 iv) 4(x-3) —(2x-3)".

Mo mupayovionotheete 11 ahyefpikéc TupucTiaes
i) Ox'-—6xy+y’ i) o —do’ +4a

i) 24x" -3 iv) o —6a+9-—f

Nu Tupayovionolieete T ahyefipikéc Tupucthoes
i) (o' —1)-2(a’-1)—(a-1) i) (o =9) —(a+3)

iii) o +p°+9+2af +6p+6a iv) 1!‘{"_}'}'1‘

Nu mupuyovTomouoeTe TG whyefpikis Tupustdoels;
i) S —p i) 27a’ +1000f°
iii) o +6a’f+12af" +8f° iv) o —3a +3a-1.

Nu mupuyovTomouoeTe TG whyefpikis Tupustdosls;

i) X -x+y-xy i) ¢ -



